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QUESTION 1

Assuming conversation is the custom component SDK handle, which two code statements are valid to access the order
and userAccount input parameters of the custom component?

[ A

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: DE

QUESTION 2

Examine the code snippet below:
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resolveEntities:
component: "System.ResolveEntities”
properties:
varlable: "plzza™
nlpResultVariable: "iResult
maxPrompts: 3
cancelPalicy: “immediate”
headerText: "This message appears for sach entity”
transitions:
actlons:
cancel: "maxError™
next: "setPizzaDough”
Which two statement are true regarding the functionality of a composite bag referenced by the variable
pizza?

A. Any individual entity item can define its own maxPrompts to override the value in the dialog flow.

B. The first time an incorrect value for an entity item is resolved, it will result in an error and transition to the state called
maxError because cancelPolicy is set to immediate and this overrides the setting for maxPrompts.

C. Each entity item in the composite bag will be prompted for a valid value three times. After the last invalid input, the
flow will navigate to a state called setPizzaDough.

D. Each entity item in the composite bag will be prompted for a valid value three times. After the last invalid input, the
flow will navigate to a state called maxError.

Correct Answer: A

QUESTION 3

You are building a skill for ordering pizza and you need it to determine when a user enters the pizza
toppings and pizza size in their request.

Which Oracle Digital Assistant feature would you use to identify these variable values in a user\\'s
message?

A. entities

B. answer intents

C. channels

D. digital assistants

Correct Answer: A
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QUESTION 4
Which statement about digital assistants is FALSE?

A. A digital assistant can be used to manage a set of skills, including skills that you create yourself and skills that you
have added from the Skill

B. A digital assistant ensures that a user completes a conversation in one skill before allowing that user to trigger the
intent of a different skill

C. A digital assistant can communicate with customers through different messaging platforms.

D. A connection to a back-end service is through a custom component that is used by a skill, rather than one that is
used by a digital assistant.

Correct Answer: B

QUESTION 5
Which two statements are true regarding local web application invocation using the system.webview component?
A. Local webviews require a Node.js environment and must have a package, json file in their root folder.

B. An SPA application can issue an Ajax post command to the callback URL that has been passed with the web
application launch

C. system.webview components can only be used with web channels.
D. Local webviews require SPA applications to have an index.html file in their root folder.

Correct Answer: AD
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